Average Atomic Mass Worksheet

1) Rubidium has two common isotopes, ®®Rb and ¥Rb. If the abundance of
®Rb is 72.2% and the abundance of Rb is 27.8%, what is the average

atomic mass of rubidium?

- 2) Uranium has three common isotopes. If the abundance of 24 is 0.01 %,
the abundance of ?°U is 0.71%, and the abundance of 28U is 99.28%,

what is the average atomic mass of uranium?

3}  Titanium has five common isotopes: “°Ti (8.0%), *'Ti (7.8%), ®Ti (73.4%),
**Ti (5.5%), *Ti (5.3%). What is the average atomic mass of titanium?

4) Explain why atoms have different isotopes. In other words, how is it that
helium can exist in three different forms?
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